
3  +         = 7      10       4  = 40    5  +         = 10         - 3 = 7         6 x       = 66 
     

8  +         = 12      6        14 = 20    16  -         = 12         x 9 = 45    8 +       = 16 
     

38 -         = 20           +  12 = 18    20         14 = 6         + 10 =24     4 +       = 19 
     

25 +         = 30           x  5 = 30    10         3  = 30         + 10 = 29  60 -       = 40 
     

Dory’s Missing Maths. 

Poor Dory has forgotten where she mislaid some of the numbers and symbols 
to her maths problems, can you help her to find them? 


